EM6—28%

HMRHE DO DSEER

J=)L2z/—)L PNEC=0.24 1 g/L
H20EE H21 & H22EE H23EE H24%EE

REL BEEERNEER EEEEREEE EEEEREEE EEEEREEE -
Rk ih s 2 62 47 47 48
SHERHT —323 15 3 2 8
S5ND (FRHFE R <0.1) 47 44 45 —
S5ND (B H R 5 <0.06) — — — 40
PEC/PNECH.D % H20EE H21 & H22EE H23EE H24%EE

PEC/PNEC=10 1 0 0 0

10>PEC/PNEC=1 5 1 1 1

1>PEC/PNEC=0.1 9 2 1 6

0.1>PEC/PNEC 47 44 45 41
BRE®RE—E H20E & H2 1 H22FE & H23ZEE H2AE &

5 | PRTREEEIE | BITEEE Pec/PNECH| BIGE;EE |PEC/PNECH| BITEERE PEC/PNECH| JBISE;EE PEC/PNECH| BITERE |PEC/PNECH
#he1—1 AR = 5.5 22.9 0.8 3.3 — — -
el —2 AR fis — — 0.9 3.8 — -
#he1—3 AR = — — — 0.29 1.2 -
el —4 BEE = 1.7 7.1 — <0.1 <0.42 — -
#e1—5 =] = 1.0 42 <0.1 <0.42 0.2 0.83 0.19 0.79 -
Hel—6 cE = 0.8 3.3 — — — -
el —7 DIE = 0.5 2.1 <0.1 <0.42 <0.1 <0.42 0.13 0.5 -
#h1—8 EE = 0.3 1.3 — — — -
Hiei1—9 EE = — 0.1 0.42 <0.1 <0.42 0.23 0.96 -
#HE1—10| FE fis 0.2 0.83 <0.1 <0.42 — — -
HeE1—11| GE = 0.2 0.83 <0.1 <0.42 — <0.06 <0.25 -
#E1—12 | HE = 0.2 0.83 0.1 0.42 <0.1 <0.42 0.16 0.67 -
HE1—13 ] 1B = <0.1 <0.1 <0.42 <0.1 <0.42 0.16 0.67 -
HE1—14 | JB fis 0.1 0.42 <0.1 <0.42 — — -
#He1—15 | KE = 0.1 0.42 <0.1 <0.42 <0.1 <0.42 <0.06 <0.25 -
HeE1—16 | LE = 0.1 0.42 <0.1 <0.42 <0.1 <0.42 — -
HE1—17 | ME = 0.1 0.42 — — — _
#he1—18 | FE i 0.1 0.42 — <0.1 <0.42 — -
#HE1—19 | NE = 0.1 0.42 — — — _
#E1—20| OB = <0.1 <0.1 <0.42 <0.1 <0.42 0.07 0.29 -
#E1—21| PE fis — — — 0.07 0.29 -
XPRTREEHIRIZCDOWNTIX., KEBALZMEZ BT EENEE(LERICES, ) HABEEFHIEL-.

1/2R=




FMIZFILTIY

PNEC=22 1 g/L

2/2R—=T

H20EE H21 & H22EE H23EE H24%EE

REL - - - - EEEEREEE
ek ih s 2 47
SHERET—2# 13
SHND (FRHESR  <0.3 or 0.5) 34
PEC/PNECH.D % H20EE H21 & H22EE H23EE H24%EE
PEC/PNEC=10 0
10>PEC/PNEC=1 1
1>PEC/PNEC=0.1 2
0.1>PEC/PNEC 44
BRE®RE—E H20FE & H21 & H22 FEJE H23 & H24 % &

2 | PRTREEEIE | BIEEE Pec/PNECH| BISE;ERE [ PEC/PNECH| BITEERE PEC/PNECH| JBISE;EE PEC/PNECH| BITEEE |PEC/PNECH:
g2 —1 QR 5 - - - — 23 1.05
Hhp2—2 RIE 5 - - - — 12 0.55
#hE2—3 BIE = - - - — 45 0.20
HeE2—4 AR fis - - - — 1.3 0.06
#E2—5 JE 5 - - - — 0.9 0.04
HeE2—6 SIE 5 - - - — 0.6 0.03
#hE2—7 T2 fis - - - — 0.6 0.03
#hH2—8 UE 5 - - - — 0.5 0.02
#E2—9 VIE fis - - - — 0.4 0.02
#HE2—10| FE fis - - - — 0.3 0.01
#E2—11| CE fis - - - — 0.3 0.01
#E2—12 | NBE fis - - - — 0.3 0.01
HE2—13 | WE = - - - — 0.3 0.01

XPRTREEHIRIZCDWNTIX, KEBALZMEZ R T 5 EE N EE(LERICES, ) HA5EFHI1EL-.




